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1. Prominent Indian social activist
Deep Joshi was awarded the
prestigious Ramon  Magsaysay
Award for the year 2009 for his

{a) philanthropic work in the
form of the Lok Biradari
Prakalp amongst the Madia
Gonds in Gadchiroli district
of Maharashtra and the
neighboring States of Andhra
Pradesh and Madhya Pradesh

{b) extensive work in applying

wireless technologies to
develop remote areas of the
Himalayas

fc) vision and leadership in
bringing professionalism to the
NGO movement in India

{d) dedicated service for cancer
* patients and intensive research
in the prevention and cure of

the disease

2. Which one of the following
statements about Gangubai
Hangal, who died in July 2009, is
not correct?

{a) She was a Hindustani classical
singer of Kirana Gharana

(b) She was awarded Bharat

Ratna in 2002

{¢) She was a campaigner to
increase awareness for organ
donation

{d)] She had the rare honour of
being felicitated by nine Prime
Ministers and five Presidents of
India

a4
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3. Which one of the following
statements about WADA (World
Anti-Doping Agency) code is not
correct?

(a)

(b)

(c)

(d)

The code is the core document
that provides the framework
for harmonized anti-doping
policies, rules and regulations
within sport organizations and
among public authorities

The code entered into force
from January 1, 2004

Under the code, the use of any
prohibited substance by an
athlete for medical reasons is
not possible

Under the code, a sanction
could be applied in cases
where there is evidence that an

anti-doping rule violation has

occurred, but where there is no
positive doping-control test

4. Consider the following statements
about lawn tennis court :

1.

Hard courts are faster than
clay courts but not as fast as
grass courts.

The French Open is played on
a hard court, but the US Open
is played on a clay court.

An approximate north/south
orientation of the court is
desirable during evening play.

Which of the statements given
above is/are correct?

(@)
(b)
(c)
(<)

1 and 2 only
3 only

1 and 3 only
1, 2 and 3




1. Y@ sWdE g wiraad du S
= 9 2009 % fom wffda vm dmew
&R e I0@sa # wem R mnt

(@) TR ¥ wefe et @ oS &
Y wew 3 wvE wew TwEl o
ofem e % dw A% faEd
Yehed & T H 3T I Frd

(b) Tearem % gg &A% fowa & fau
AR (AERem) SR @
A HA H I A FE

fc) 9@ #H NGO =W [
AEEdST O ° IR g IR

I g

(d) FE OFE F o 3Tt gulda da
. 3t 5@ U & Fraww i ol o
3eR g TTHUH

2. gk 2009 ¥ R @ TER @ %
fo # frefeafad # @ FR-w &
wE T 27

(@) @& o am f Rgwr wEE
g iyt of

(b) & = 2002 ¥ WA T A FANAG
e

fc) FER AT-TWH & foTe SwEehar s@R
?g it s@mn

(d) 3% G & w9 ugalen it #

qyrmEE 8 Sus el w1 O
AW W §AT
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3. f=afafgas == 4 9§ F9-W1 @@ WADA
(g TA-Efin ) =g ¥ faww o
el gt 87

(@)

(b)
(c)

(@)

wIg 9¢ U9 Yo 8, I T WSl
F =t 3 e it & &=
gcgargel  Sifim-fsft  fifed,
el of fafawl & @9 @1 Iuaeu
L 3

FE T 1, 2004 | TqW g3

FE ¥ A T fifvg wmd =
gy g0 fafren sl 8w
g =g 2

®ig ¥ A I mwE & A
&1y fan s wwar B, wEl gae
o & T Sifm-fodt G &
IGEA FA & TG W@ iy ditted
iftr- g wheor 78 R

4. o g =2 F T 1§ Fafafag s w
feram i -

1.

g =i, givem F H & A
e &, g 39 o wd e 3w
i

%9 N9 TR e W @ I g,
g qo whe 3w TieER FE W
Ter S B

T % Y F E S w1 aheEe
I /fm sfvfmme giesfe @
4

U woAl § @ FF-T/8 Tl /R

(@)
(b)
{c)
(d)

Fael 1 3 2
%ad 3
Fae 1 3 3
1, 2 37X 3

[P.T.O.




5. If a limestone piece is dipped in 8. Consider the following paragraph :

water, a bubble evolves. The
bubbling is due to

{a} hydrogen -
{b) oxygen
{c)] water vapor

{d) carbon dioxide

6. Which one among the following

Rajdhani trains covers the longest
distance?

{a) 2433 Chennai Central
(b} 2431 Trivandrum Central
{c) 2435 Dibrugarh Town

(d} 2429 Bangalore City Junction

7. On which one of the following

grounds, in August 2009, Scottish
authorities released to return home
Abdel Basset al-Megrahi, a former
Libyan agent, jaﬂed for life for the
bombing of Pan Am Flight 103 on
December 1988 that killed 270
people, most of whom were US
nationals?

fa) UN requested thHe Scottish
authorities to release him

(b) He was dying of cancer

{¢/ Charges against him could not
be established in the Scottish
Court of Law

{d) US granted pardon to him
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He was serously injured in police
lathi charge in Lahore during
demonstrations  against  Simon
Commission  for which he
subsequently died in November
1928. Later on the British officer,
who was responsible for the lathi
charge on him, was shot dead by
Bhagat Singh and Rajguru.

The revolutionary referred to in the
above paragraph is

fa} Pandit Govind Ballabh Pant
{b) Lala Lajpat Rai
f¢) Mangal Singh

(d) Motilal Nehru

9. Which one of the following can be

provided under RTI Act, 20057

{a) Information leading to incite-
ment of an offense

(b} Information leading {o
disclosure that may constitute
contempt of court

(c] Conditional disclosure relating
to information on intellectual

property

(d} Information relating to Cabinet
Papers recording deliberations
of Council of Ministers




5. AR AR F FHS F U § gamn W,
W Fegr I AT ¢ TE GEER A
FHRO AT 27

(a) TEGSH
(b) SIS
{c} FEET™

(d) T SrgarTiauTgE

6. frafafaa tourt Twmfedt & 4 sh-wH
watites wwl gt 7w 27

(a) 2433 7% W7

(b) 2431 FrErm ¥wm

(c) 2435 fegmg oA

(d) 2429 SR YR s

7. fofafae 4 @ e @ MR w arw
2009 ¥ wifttw witwiEl ¥ & o
i i arete S STE-TRE A
ot & forg g o T, fad fewmn
1988 & 43 U9 IgM 103 + W9 | =N
% fom, fwad st go w@o Tl
g 270 FM AR MY, AER TR 1
T oY

(@) Fo To A WHitewr wiivrawTidl § 3@
ek 0T 1 g0 fRa

(b) TWHT AWM

(c) THiew e # Iu%h fawg Oy
g 7t 3 v

(d) Fo Wo I I &wRH 2 e
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8. Ffafas ag=ee w famm Hifrg
T FHIVE ¥ e Wl & A
R 7 5w gere andt wief # 3 it wy
? e gy, e qRumrEey 39mn
1928 B I gy A W1 IR HF F K
g 91 ¥ g seer faly st

# o g SR geE 3 mMeft @ Ier
fear!

Iw ageae § fiffe w wiRed
FafRmda sh &7

(a) dfvga M sgw o
(b)) AT AR T
c) T firg

(d) AT TEE

9. RTI 1ffem, 2005 & ad\ fmfefea
# ¥ w1 wh wSW R S g 27

() e sty # w3 Tl =

() Wt gum fows yedmm @
Y i HGHE TR A

(c) e® waw fawas g @
Tl TEd W

(d) ufF-afmg & foan-faef =

Fhifrfaa F6 a1e Ffame Fr=Et
| geafa gEA

[P.T.O.




10, In the month of Qctober 2009, the
Indian Air Force in Mumbai airport
forced a flight of North American
Airlines Boeing 767 to land. Which
of the following statements in this
respect is/are correct?

1. It was forced to land, because
the Indian Air Force was
reported that there was a bomb
planted in the plane.

2. The plane was travelling to
Bangkok, Thailand from
Fujiriah, United Arab Emirates.

3. The plane was carrying US
troops.

Select the correct answer using the
code given below :

Code

{fa} 2 and 3 only
b} 1 and 3 only
fc) 2 only

{d) 1,2 and 3

11. Consider the following statements
about Tata Steel :

1. It is Asia’s first privately owned
integrated iron and steel plant.

2. It is the first company outside
Japan to get the Deming
Application Prize in 2008 for
excellence in  total quality
management.

3. Immediately after the
enactment of Provident Fund
Law in India, Tata Steel
introduced provident fund for
its employees.

4. 1t is the first company in the
world to get Social Account-
ability 8000 certification from
Social Accountability Inter-
national, USA.
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Which of the statements given
above are correct?

fa) 1 and 2 only
(b} 2 and 3 only
{f¢ 1,2 and 3
{d} 1 and 4

12, Consider the following statements
about the Queen’s Baton Relay :

1.

The helix shape of the Baton
for the 2010 Commonwealth
Games, created out of
aluminium, is coated with a
graded and layered soil pattern
in black, yellow and red to
represent the diversity of
Commonwealth nations.

This Relay traditionally begins
with a commencement
ceremony at  Buckingham
Palace, London, during which,
the Queen entrusts the Baton
containing her message to the
athletes to the first honorary
relay runner.

The Relay for the 1998 Games
in Kuala Lumpur, Malaysia
was the first to travel to other
nations of the Commonwealth.

Which of the statements given
above is/are correct?

(@

(b)
(c/
(d)

1, 2 and 3
2 and 3 only
2 only

1 and 3 only




10, IR 2009 WR § 9l arg 8 ¥ g
AR A W A sl ueEe A U
IFA AT 767 W IR g A
Ty @ fawm 4 fefafes =t 3 @
HA-ul/® W 2/8?

1. 3IQ I BN weg fe T, @i
ARG g o1 & g Tk of &
fomm & = @ w2

2. Taum poftfers, wgw e eoftta @
i, UTgevg Y T 9T A1)

3. A g we A-T@ A S @
o

R Ry oF w1 W W ER W
g

F2

(a) Faw 2 3R 3

(b) Fam 1 W 3

(c) FFd 2

[d} 1,23M3

11. 7@ & & 9 ¥ afaRae st w

foam s -

1. 78 ool witie &1 e = gam
wHigd g 3R S T B

2. 98 P PRI Wee | S % fag
2008 # fm V=hiFm s ww
FX T IHHE ¥ W A owem
il |

3. va # wm R @@ i
afufafafy & gea =, a0 2 3
I wfETEt % fou wis fify
A Fi |

4. I3 A wwmEfafdie v,
o THo TWo ¥ WY wwEfafafe
8000 YAWH YW %3 =it fag f
vl w21

T-DETA-K-HL/2A

T woE A Y AR @ W

(@) FaA 132

(b) FEE 2 3R 3

fc)

1, 2 3t 3

(d) 134

12. g 9 ™ & fomg d frafataa st
T foram Ffr

1.

2010 & UEAVEA @al ¥ forg des
w FUSE AR egHiEE #
ST T R 9 3@ UPHUSA & U
& fafqua w1 fFreqw w3 & R
FH, i M A o1 § e sl
wie ggr wiew @ Afte o m
21

77 e Tl =9 @ sfhm e,
a1 § 0% RO giiE % 9
amey A 2, Rt #9 faenfeat
F W IR TR A Iw FA W
uq guATe e uEs & gledt §1

1998 § FHEFR, TR § §¢
|et &t i qyrved &% 3= upt f
I = Al wem i o

I FeEt § & WA-w/A ad 287

@ 1,23MW3

(b) Fae 2 3R 3

fc) FaH2

(d) ¥ 133

[P.T. O,




13. Which one of the following crops’

production has been exceeding
target since 2004-2005 in India,
but its growers have been
committing  suicide - in large
numbers in many parte ‘of the
country every year?

(a) Pulse
{b} Cotton
fc) OQilseeds
(d}, Wheat

14. Consider the following statements :

1. The DRDO developed two
. variants of Prithvi Missile.

2. Prithvill is equipped with

' features of maneyverability to
deceive the enemy defence
system.

3. Induction of Prithvi Missile
enhances the capability of the
Indian Army to attack multiple

' targets simultaneously.

Which of the statements given
above 1s/ are ccrrrectfJ

(a)j 2 and 3 only

) 2ony
¢ 1 and 3 only
(d) 1,2 and 3

15. High Altitude Warfare School of the

Indian Army is located at
{a) Gulmarg
fb) Siachin
{c) Leh
{d} Manali
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16. Consider the following paragraph

.and identify the person referred to

therein using the code given below :

+She joined the diplomatic corps in

1949 and became the first woman
diplomat of India. She was the
Ambassador to Hungary, Ghana
and the Netherlands

Code ;

{a) C. B. Mﬁtﬁamma_
{b) Nirupama Rao

{c) Chokila Iyar ‘
{d) Meira Kumar

17. Consider the following features of a

border district of India and identify
the district using the code given
below :

Situated at the height of 10000 feet,
which is enchanted with scenic
beauty, the district is surrounded
by two nations in the north and
south-west. River Nyamjang-chu
runs through it. Potato, maize and
millet are the main crops of the
district. Besides monasteries, tourist
attractions of the district and its
surrounding places include Sella
Pass, P. Tso. Lake, War Memorial,
Jaswant Garh, etc. Losar is one of

the prominent festivals of the district.

Code:-:

fa) Lohit

{b) ATawang

fc} Kangra

{d} West Sikkim




13. fy=fufga & 2 fov & w9 &1 I

g # 9§ 2004-2005 @ % ¥ Al
W% @l ¥, ug T I A feem <
T s ad ol g' § SR W R
£14

(a) T
(b)
(c) Teerea
(d) g

14, FrafaRam wuet @ fem Sifsm -

1. DRDO 7 y=t fimma % 3@
vy forfta )

2. gt 11, Wy wfan yorelt @ sem

% for, givwameriuan fafineastt @
i 21

3.yt fome@ &1 e wRdE @
&, FgAEd T THEY AT H
#F, &TIa T GG 2|

S Tt 3 @ HH-T1/W T /30
(a) Fad 2 A 3

(b) =2

c) Hae 1 3R 3

(dj 1,23Mm3

1S, T B0 F TR Al TR TFA

el it 27
(a) T
(b) Tt
(c) 7

(d) W
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16. e sgede  Rew Ak o AR

Ry T e w1y W e fylaa =hE
T TEETAT

78 1949 F wafiE Fx 3 afcikm g
3 wra # yem afgen geeEg §411 98

&R, 9T 3R Aeevgy i Togd @

e .
(@) o o Tamm

17. YRa ¥ & dnEd B B Fefatea

RAftrsaet w fAar ke oft suE =
fRu T w2 w W W W H A
‘IEEI'Iﬁ'Q:

10000 §2 #t 91 W HIEAd, NFlaw
gy & WA F 33 qren 48 el W
3k zfpr-ufim & & agf @ A gaw 8l
T - 399 e} 81 e, el
3R saR-a1e 36 Frdt #t 5T W 8l
w3t % afafte, T e 3R g% ST
& oyl & ydew v § A U,
o e oF, IX AWRIH, sHEA TG
sz &1 e 57 frel & gg@ ot 7
4w 2

e :
(@) @fea
(b) qE

fc) HTH

{d) ufdy ffem

[P.T.O.




18. ‘AVAHAN'—the Indian segment of 20. Which of the following pairs are

Bill and Melinda Gates Foundation
(BMGF) is engaged in the
prevention of

fa}. dengue

{b) polio

{c) HIV/AIDS

(d) filariasis

19. Consider the folllowing paragraph

and idertify the person referred to
in it :

A Nobel Laureate in Literature, she
is a member of Romania’s ethnic
German  minerity  who was
prosecuted for her critical depictions
of life ‘behind the Iron Curtain’. She
made her debut in 1982 with a
collection of short stories entitled
‘Niederungen’, which depicted the
harsh life in a small German-
speaking village in Romania. This
book was censored by the
Communist Government.

fa) Doris Lessing
(b} Gulnter Grass
{c) Herta Mueller

{d} Imre Kertesz
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correctly matched?

1. Carlos Ghosn : Nissan Motor

Company
2. Bill Green : Accenture
3. Carol Bartz : Yahoo
4. Andy Bond : Vodafone

Select the correct answer using the
cade given below :

Code :

fa) 1 and 4

(b} 1 and 3 only
fc/ 2 and 4

(d} 1,2 and 3

21. Which one of the following Public

Sector banks’ emblem figures a dog
and the words faithful, friendly’
in it?

fa) Punjab National Bank
(b) Syndicate Bank
{¢) Oriental Bank of Commerce

{d) State Bank of India

22. Which one of the following countries’

central bank has procured 200
metric tons of gold from the IMF in
October 20097

fa) China
fb} Sri Lanka
{cj Singapore

{d} India




18. ‘sraed —R@ 3R aferm @ SRR N
(BMGF) # widfig o= frafafaa #
¥ forwes Framon o 9em 87

(a) <1,
(b} ferE
fc) THo Ro o /TgH

(d) TEATE

10, i wyede T R SR oh gE

FifE =fe = i

e ¥ 799 YR @ gfftd, a8
GHIHAT & Gidig THA ScTaeTE GYa
# wed o, fod ‘Fg-we & I8’ & A
F HTIAITS e & fag st
e 7 91) 3T ST T H IR
1982 ¥ Higt=m' wWiHE e ag-Fd
e @ fe, el owfa # o B
7 urt wfg F IR AlaT F AR
47! T8 GEdd angaret WEH 51 81 #
T ot

(@ @ afam
(b) TR AE
(c) T RN

(d) R ®&A
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20. FrefrRam T 3 & w2 wd gAfe 37

2, fa=ita . V=R
3. %ﬁﬁiﬂiﬁ 1 g
4, UGl 9108 : FSTEA

R Ry M g W W W oEd W
EGLE

T3
(@) 134

(b) haet 1 3R 3
) 234

. {d) 1,233

21. Frafafas ot &% 9 4 @ Fra

% ¥ TdiE-TE § T g A A ol
Ry, Mgl T 37

(@) TNE AIEA qh

(b) Todide 5=

{c) NRT=er I TG Fiwd
(d) R v 5%

22, fafeflaa 2wt 4 @ B @ & 5=im

% A TR 2009 § IWZo To Tho @
200 Hfew <1 w1 T Rt

(a) <A
) e
{c) Rmge

(d) YRa

[P.T. O.




23. Match List-I1 with List-II and select 25. Launched recently by the Central

the correct answer using the code Board of Excise and Customs,
given below the Lists : : ‘ACES’ is a
List—I List-II {a) new centralized, web-based
(Name of (Type} software application of the
warhead) Board
b ice desk divisi f th
A. Teja 1. Air-to-air missile (b) service des dl\.'ISIOIl © . €
- Board for collection of service
B. Arjun 2. Ship-based missile taxes
C. Dhanus 3. Main battle tank (¢} new division of the Board for
' ' T disseminating information
D. Astra 4. Light combat aircraft about the direct tax structure
in force
Code : (d) new form of service tax return

26. Which one of the following States has

fa) A B C D won the overall championship title
2

4 3 1 in the 63rd National Aquatic
Championship held in Kerala in
{b) A B C D 20097
1 2 3 4
{a) Kerala
fc) A B C D (b} Karnataka
4 1
2 3 {c¢) Assam
{d A B C D (d) West Bengal
1 3 2 4

27. In the assembly polls that took place
in three States in October 2009,
the Indian National Congress got

24. Piramal Life Science is a/an A
absolute majority in

{a) life insuranc¢e company {a) all the three States of
Maharashtra, Haryana and
(b} drug research company Arunachal Pradesh
(b) Maharashtra -and Arunachal
{c) SEZ (Special Economic Zone) Pradesh only

' ¢ H d Maharashtra onl
(d) PSU dealing with healthcare e) Haryanaan arashtra only

amenities (d} Arunachal Pradesh only
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23, -1 ® FE-11 F "y gofen Ffvw iR

gRE F IR Ry e gz w1 @ W= el
Wﬁﬁﬂl:
gei-1 =11
[Twiesh vid [TR ]
(aree) =
Tw]
A ¥ 1. Tg-¥-a frama
B. g 2. qia-3neia fema
C. afy 3. 0T IEF &
D. Id 4. TE g famm (|nge
FISE TR
e
@ A B C D
4 3 2 1

) A B C D
4 2 3 1
) A B C 'D
1 3 2 4

24, frme aRw wEE = 87
(a) < dmn woc
(b) 3TN" FFGUR Fegft
{c) Tho o Hgo (fadiw sl &)
(d} w@en @ glawmsT & +m
F aredt dto wEo Fo
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25. T @ ¥ 4 IAR-YEh T4 HHYe®

TE TR AW il T ACES’ 991 87

(@) HE T T FEFa, =-IaE
TG TP

(b) [a-wG N TgEt F R G W=
Yol STH TA

e} AV TH-w wEA kA #d
T % W F oy 9 w1 o
TP

(d) Fm-T Fof = 7 =y

26. T=taftaa osat 4 & 5 ww 3 2000 3

@ # U 639 e wHie AfEARm
F A agew shar?

(@)
(b) FAEH
fc) EH

(dj i s

27. IFER 2009 ¥ 7 w4 § g Fem @

TmEt § fefafes @ @ fee/fem
T/t | adE g wae v
ogHd YW T ?

(o) TEWE, sEEN 3 SYETEA W2
—fi=t T=al §

(b) A TR IR ST wew o
fc) = g 3 ey &
(d} IS IXUTEA T H

[P.T. O.




28. Which one of the following is not
an issue straining Indo-China
relations?

fa}) Construction of a dain across
the river Brahmaputra in Tibet

fb) Visit of Dalai Lama to
Arunachal Pradesh

c) Stapling of Chinese visa for the
people of Jammu and Kashmir

(d} Linking Kashmir valley with

the Indian Railways Network

29. Which one of the following States has
seen a series of strong public
protests against the Armed Forces
Special Powers Act in force in that
State?

fa) Nagaland
{b} Manipur
{c¢) Jammu and Kashmir

{d) Jharkhand

30. Venkatraman Ramakrishnan has
been jointly awarded the 2009
Nobel Prize in Chemistry for his
contributions in

fa) identifying the molecular ruler
in ribosoma! assembly which
ensures error-free synthesis of
protein in cells

{b} synthesizing a group of life-
saving antibiotics

fc} the work on green fluorescent
protein of jellyfish

{d} successfully crystallizing the
large subunits of ribosome in

cells
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31. An underwater meeting held recently
has drawn attention world over. The
meeting was held by

faj some Somali pirates to make a
new sirategy for capturing
ships for ransom

(b} some environmental scientists
for promoting awareness for
saving water

fc) some environmental activists
for promoting
against air poliution

awarcness

{d) the Cabinet of a country to

highlight the threat of rising
sea level for the country

32. Which Asian team will be out of the
next FIFA Football World Cup for
the first time after a gap of
20 years?

{a) Saudi Arabia
{b) South Korea
{c) Japan

Iran

(d)
33. Which one of the following is not a

football tournament?

fa) I-League

{b} Irani Trophy

fc) Bardoloi Trophy

(d) Durand Cup




28, frefiflgs & @ -1 ™ w@-dA

31, @ @ 1 ge s el 33 4 -

weat % sff e & g A 20 W wft w1 e diEn 98 Sow fEa
(o) T A SR @ W TH A t
et () T TR WL e 3, Ffe-ww
(b) TEME AT HT SOES T hY A o SEsl W we FA K T LS
fc) TY-HER & i F forg Sf s T % e _

AN-GeTH (RUeA) FE (b} FO T AFEH A, T T F
 (d) ST Y Yok & wy el e fore srTeFa & wadw 3

< () Fo TERW EHFaEE 3, 91y

TgEY & HIY ITEHAT & HadA g

29, Fafafaa v=at 4 @ fom = = #
mwﬁﬂwvﬁsﬁaﬁzﬁm(a:g (d) T W e A, W 2w F kg
wdn Avw vEd W) ¥ fes v TG g WIE WR ¥ R Wy
sA-fady it gEen 3 7 ¥ A & fg

(a) TTIITS
(b) AR 32. -4 wfimd dw 20 W6 & A=A F
1] Ygell R 3 FIFA $eaia (99 &9
fc) SE-FENR & A Al
(@ s {fa) TSI A
30. SHY THFWH H Fad 7% g FgA (b) e S
F fau 2000 = WM § AES -
TRFR W T A W P T 27 (c)
(@) TEETS Srdse § afvas wor A (d) @A

TEEAT, S IR § DA w5

ol T & 33. Tfafed #§ @ #1-w w5, geaia @ik

() W% - whekw ' oW T 27

AT FAT
(0 effem ¥ ) wRdfeda w9 W (@) &=

s () S 7
(d) Fimwes & wEEW % gEq N

TCHH B AEAAES  SRREfeT (e)  SeaNels T

wA (d) T
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34.

1.

*35.

36.

Consider the following ~paragraph
and identify the person referred to
therein with the'help of the code
given below :

" After training under Ustad Abdul

Rehman Khan of Patiala Gharana,
he turned to Ustad Ghulam Mustafa
Khan. ‘Memories come Alive’ is his
autobiography. He was awarded
Dada Saheb Phalke Award.

- Code :

(@) S.D. Burman
(b} Bhﬁpen Hazarika
{c} _.Manna Dey

{d) Bhimsen Joshir

Which one of the*following is the
central theme of the Chipko
Movement, started by Sunderlal
Bahuguna in 19737

fa) Conservation of river water
(b) Protection of birds
(¢} Protection of cheetahs

{d) Conservation of forests

Which one of the following is the
solitary aircraft carrier of the Indian
Navy that turns 50 in 2009 and has
the distinction of being the oldest
floating airfield in service?

{a) INS Viraat

(b} INS Trishui

{c) INS Godavari

{d) INS Vikramaditya

T-DETA-K-HL/2A
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37. -In the year 2009, Japan launched its

first satellite to monitor greenhouse
gases. What is the name of the
satellite?

{a} Tadami
fb} Yasushi
{c} Kyoto
(d) Ibuki

38. Which one of the following pairs with

respect to computer is not correctly
matched?

{a) 1 megabyte :
(1024)x(1024) bytes  ~ ™
(b) Compiler :

T

A program which translates

a high-level language
program into machine
language

{c) Liveware :

The users working on the
system

{d) Plotter :

An electronic device used
to convert digital electronic
signals to comrmunication
channel electronic signals
and vice versa

i

39. Who among the following were jointly

awarded the Rajiv Gandhi Khel
Ratna Award for the year 20087
faj M. C. Marykom, Vijender
Singh, Sushil Kumar
(b} M. C. Marykom,
Singh, Saina Nehwal

{¢) Vijender Singh, Sushil Kumar,
R. 8. Rathore

{d} M. C. Marykom, Sushil Kumar,
R. S. Rathore

Vijender

+




34, Frefied sede T RaR AR o A

Ry Ty g F wEEa ® TR e o

TR TUR % IR TG WHIA @A F
srtft7 wfirfdra @ & verq 3 I&E I
TEE TH @ g2 A90F ¥W uena
T A @1 IR T RE Eed
TaTE ¥ai fEa )

QQ_C:

(a) THo do T
(b) 37 ESIIGH
(cj T2

(@) fmeR seft

35. 1973 ¥ FRTeel SO A 0N fhY

T R aRien i g fewgag
frefoafin & & w9-@ @ 27

fa) TSI < FEW
(b) %l & wE
fc) <t =1 T

(d) =i 1 HEE

36. Fafafga & 8 A-w w v AW

F1 A fammaes 99 8, st 2000 #
50 99 ¢ ®IW 2R Tl yrfiTem |
TaT 3N FATE & E W G Wy B7

(@) INS TR

(b) INS F@

{¢) INS TeEl
(d) INs fawmies
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37. a¥ 2009 # Sy 7 MERE W R

AHier w0 & R o yom U Siet
o1} IUUE H AH A 87

(a) e
(b TgEh
(c) ¥A
(d) TR

38. F=foflae i 4 @ #9-w1 & FgW &
- = #, wE gafea 78 87

(@) 1 WTETEE :
(1024) x {1024) §g

(b) FHITETR :
T W S ISR S
%1 Wi i # vEE e B

(c) TTFEAR :
e WM F+@ T Wl
(d) A :
T yaegw gRe st R
TAE el W FER S
TR fime &, AR faetm,
il @ & o W a2

39. f=fafza 4 4@ ad 2008 & Rw wim

T @9 W@ gEEn R wgw w8

werm fepan a4t

(@ To Ho
it FAR

(b) o dlo Whmm, fae=w fag,
AT 8T

c fe=x &g, gia R,
MKOEHOT@T

[d) Te o WhwM, T FAR,
3o THo TR

Hwm, faat f@w,
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41. Which

42. Which

40. If the earth did not have an

atmosphere, temperature extremes
between day and night would

{a) increase
(b) decrease
{c) stay the same

(d) fluctuate rapidly

one of the following
statements on biosphere reserves is
not correct? '

(a) In 1973, UNESCO launched a
worldwide programme on man
and biosphere

(b) Biosphere reserves promote
- . research on ecological
conservation .

fc) Nanda Devi Biosphere Reserve
is located in Madhya Pradesh

(d) Biosphere reserves are multi-
purpose protected areas to
preserve the .genetic diversity
in ecosystems

one of the following
statements is not correct regarding
the Himalayas?

{a) Himalayas have nappe and
recumbent folds

(b} Himalayas rose up from the
Tethys Sea

fc) Himalayas contain three
mountain ranges--—Siwaliks,
Great Himalayas and Kunlun
Ranges

(d) The orogeny took place in the
Tertiary Era

T-DETA-K-HL/2A
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43. Which one of the following is not

44.

associated with monsoon climate in

India?

fa} El Nifo
currents

temporary warm

fb) South-equatorial ' warm
currents of Indian Ocean

{c) Western disturbances
(d} Cyclones of Bay of Bengal

On the above map of India, the
shaded districts are those in which
a particular tribal group constitutes
more than 50% of the tribal
population, What is that particular
tribal group?

fa) Gonds
(b} Bhil
(¢) Nagas

{d) Santhals

45. Which one of the following places is

not located on the bank of river

" Ganga?

(a) Uttarkashi
(b} Kanpur

{¢) Fatehpur
fd) Bhagalpur




40, TR geslt W AngvS TE A, A A 3R

Td o =" AMHH =H
(a) &g =M

(b) H B IW

{c) 8w

(d} Fh D ued-wed &

41. Sanveq fisEl & favg 4 Pefafea 3 @

FHIA-HT T HU WS Td 87

(a) 1973 H UNESCO 3 AmRa 3
Stamgd s fygendt wdwn
RGRERIRN

() <arvga foe aftfesfes g w
HIZEYH H TeaTed 3o 8

(c) =1 T Sianvea fiwd 7w wem @
ITafedm §

(d) Semvser fod wfaat § sgafie
v & ofmegm & fw wg-
Sexf sl &9 &

42, femmm & sk 4 f=fafee 4 @ sF-@

TF FYA Tet TE 87
(o) Teamer o A0 ofk A 9o B §
(b) Temmem 3w arr | 3w 2

) T % @9 uda APET F
Rrarfe, g5q fomem ot $agd
Sfvrt

(d) EaA T TETET & gaT o
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43. Frafafas # @ sFR-w w6, T N qEEd

Ty ¥ weafug Tt 87

fa) e Y areemft Io0 uwrg

(b) O WEETR R glEe-smediy
Bl

{c) afgrt fares

(d} |mHA ) @ F AHard

vrd % 39w At T TR fae D,
ot @ o Sl wqE, ST .
SHEEAT F 50% @ fYF B o 2| 98
famiy ST 9ag FH-T 87

(a) TS
(b} =\
{c/ =M

(d) Wae

45. Frafoafga # @ #9-91 = wyE T FE S

Formt w stafem A 27
(a) JaGEHEN
(b) L
(c) BTG
(d) WL
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46. Which is the correct arrangement of
the following rivers from north to

south?

fa) Godavari, Penner, Kaveri,
Periyar

(b} Penner, Godavari, Periyar,
Kaveri

{c) Godavari, Kaveri, Penner,
Periyar

(d} Kaveri, Godavari, Periyar,
Penner

Code :

{a) A B C D
1 2 3 4

(b} A B C D
4 2 3 1

fc; A B C D
1 3 2 4

(d) A B C D
4 3 2 1

50. Which of the following seas are

47. The time at Cairo is 2 hours ahead of
Greenwich. Hence, it is located at

faj 30° W longitude
(b} 30° E longitude
{c] 28° E longitude
(d} 28° W longitude

48. Bolivar is the monetary unit of
(&)
(b
{c) Bolivia

(d)

Venezuela

Brazil

Belarus

49. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-T List-II
{Sphere of the (Main constituent of
earth) the sphere)
A. Lithosphere 1. Living objects
B. Hydrosphere 2. Mixture of gases
C. Atmosphere 3. Water
D. Biosphere 4. Soil
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51.

enclosed?

1. Andaman Sea
2. Aral Sea

3. Sea of Azov
4. Bering Sea

Select the correct answer using the
code given below :

Code :

(a)
(b}
(c)
(@)

1 and 2
3 and 4
2 and 3
1 and 4

An earthquake epicentre is the

(a)

(b)

(c)

(c)

point where the seismograph
is located

point within the earth where
the movement along the fault
occurs

approximate centre of a group
of related earthquakes

point on the surface directly
above where the rupture along
the fault zone occurs




46. Prfafag afkat =1 3w @ 2famr i v
adl fa=rrg - 27

o) TEE(, 9, w=EA, e
(b) ¥, Meradt, WEw, FRG
(c) TieEd, FEA, v, AR
(@) =+t Maad, g, I

47. FIR0 (F0) = w7 of= | 2 gu2 am
21 ora: 78 e 2wt W i 87

(a)
{b)
fc}
el

30° W
30° E
28° E
28° W

48, TR FaT A TH-5FTS &7
fa) FAYEN

(b) TS

(c) efifemm

(@)

qATEH

49, g1 ® gEi-11 % my gafag Hifm ik

v ow p

g & 1 R T w2 w1 oy ) oad
mgﬁq:
-1 -1
(gest =t (vvee & g
HUZH) °Zeh )
ferrefiat 1. 9& e
RESLZIRI 2. il = fasm
TeHiehiR 3. 5«
R 4. 7=
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HE :

{a} A B c. D
1 2 3 4

(b} A B C D
4 2 3 1

fc} A B C D
1 3 2 4

(d} A B C D
4 3 2 1

50. fafafag & @ #9-8 ag viag &7

UL FIR

3 HYR

FFE F R

T wgR

9 i M Fe W W W N
g

i
(@ 132

.

(b) 3 a4
fc) 23IM3
(d) 134

51. & Afhs &= @ 87

(@) Frg, & W yEw-od sEfem
G

) =t F ot forg, =T ¥w % Tw
TeieH gl §

¢} TETm @ T Wg F S
E

(d) 3| ™A F Tga: IR foeg, s
oy 87 & Wy dlrnu far g
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52. The concept of  sustainable 55. Tsunamis are not caused by

development relates to .
fa} hurricanes

{a) consumption levels (b) earthquakes
(b} exhaustible resources fej undersea landslides
(c) social equity {d} volcanic eruptions

(d) intergenerational equity 56. Which of the following statements

with regard to rainfall in India’
is/are correct?

1. Most of the rainfall in India is

53. The jet streams are

{a) wind systems with a ' due to the south-west
pronounced | seasonal reverse monsoon.
at a direction 2. In South India, rainfall

decreases away from the

(b} winds Tblowing from the Eastern Ghats.

subtropical high-pressure belts

towards the . subpolar low- Select the correct answer using the
pressure belts code given below :
{¢) narrow meandering bands of Code :
swift winds which blow in
the midlatitudes near the (@) 1 only
iropopause and encircle the (b} 2 only
globe

fc/ Both 1 and 2

(d) winds blowing from the sub-
polar low-pressure belts
towards the subtropical high-
pressure belts 57. Deltas are common in India for the
east-flowing river systems, whereas

they are nearly absent on the west

(d) Neither 1 nor 2

54. If the movement of the earth’s crust coast, because west-flowing rivers
or a major climatic change makes
an old stream young, it is called (a) are few

(b} have lesser water volume and

{a) consequent stream carty less run-off silt

(b} rejuvenation {c) originate in dry areas
{c) subsequent stream (d} originate largely in the Western
Ghats and have a short

(d) aggradation distance to cover to the sea
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52, yoiig fawm £ geworn el wafw 55, gArd fraeh g = Efiv
¥?

(a) WHSH
@) ST ER (b)
(b) Tl daE (c) VU SFETH
(d) ST Fen 56. wrE & awl ¥ o 1 Ay weet # d
HH-|1/R T /37
1. oa # sfeere awf 2iEm-uiim
53. ¢ VAR 1 87 N
(o) T Ren # wym g fed & WM 2. hm v # o, o Wi ¥ g
LCLiEt Tzdl ST R
(b) S TEm-aE wee ¥ FwyEw 9 Ry gz F1 oW R FR IW
fym-am et A 3R T8 A EELE
T —_
(c) Targ wam <t gehit foadl ofgad, st (@) ¥ 1
ghdfm % fiee 7w senwm o
vaiRa & o yrvew U € () ¥ 2
o {c) 13 23M
(d) 39 -z wfeerat @
mgjq:aaﬁar—tﬁﬁaﬂtaaﬁm (d) AA1AAA2
qg
57, uwa § gd-wardl T T & fog Sea am
% wafs 9 ofieft a2 w onm sfmE
54. I gt Y i@ i 7 W g T@w=g & wifs afim-ward afeat
i gg gitan =t o 5 3 g, @ W@
ama%;g? B (a) TBAE
(b) TE-3EA § MWERa W OF AR
(a) LA R = 918 TE & I 8
() FiEE (c) T &t & 3o ol 3
(c) TR Hi (d) ufdd =t & e 3w gl 8
3t I "R TR UgEd & R
(d) eR=r (WSTH) Siey 71l g &
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S8. Which one of the following projects of
the NHPC (National Hydroelectric
Power Corporation) has the largest
power generation capacity
(installed)?

fa) Baira-Siul
(b} Chamera-I
{c) Loktak

(dj Salal

59. Which one of the following trains/
railways passes through Germany,
France, Austria, Hungary and
Romania?

{a} Trans-Siberian
(b} Cape-Cairo |
{c) Orient Express
(d} Union and Central Pacific
60. Which one of the following does not
have a heavy water plant?
{a} Narora
(b} Sriharikota
{¢) Kakrapar

(d) Kota
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61. Bluetooth technology allows

(a) wireless communication
between equipments

(b} signal transmission on mobile
phones only

{¢) landline to mobile phone
communication

(d) satellite television
comimmunication

62. At high altitudes, pressure cooker is
preferable for cooking, because the
boiling point of water

fa) reduces due to higher
atmospheric pressure

fb} reduces due to lower
atmospheric pressure

c) increases due to reduced

gravitational force

reduces due to increased ozone
content in the atmosphere

(@)

63. The vitamin(s), which is/are
generally excreted in urine, is/are

{a) vitamin A
fb) vitamin B
{c) vitamin C

(d} vitamins D and K




58. NHPC (U¥H wo-agd mfe ) i 61. sczy drnfieht frmeht argwfy 2qf 27
frafaian wieemet & @ fra s 6

wag e wiite Scred eman (weafyg) (o} 3TFI % s IRRAR FIR
i
. (b) FaF Nawa B w et yarw
(@) -Tasa
(¢} S B MEARA GHF dI
(b) =TI
(d) Hemse Tehfaem TuR
(c) VESF
(d) He 62. el Sargal W WeE T ¥ fig
FH ITR B, FIh T 1 FAAH
59. Prefafad § ¥ #F-d9 @ Ya/twd s, (q) FET AYAVSAE T F K FH
wiw, W, $10 R dmfm A B B S &
T 27
(b) Pt TgEdE TW % FRO
() gra-wEaREm e T
() THFA THEENT TA & FRU TG
{b) Fu-FF o d
(c) 3iftge Twmw

(d) Ipvea § T @ oW R W %
HRI FH F S g

(d) YR wwe A Yefife

63. T3 & ym: FF-T/A ffe swfia d@m

60. frmferfm % A el ¥t e e Tt 27 3 /8 87
o) T () Trafm A
(b) R () T B
(o) TR (c) Tafimc
(d) e (d) fafim D st K
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64. Which one among the following is a
major source of sugar?

{a}] Watermelon
(b} Beetroot
{c) Sugarcane
(d) Date
65. Itching due to insect bite is caused
by
{a} formic acid
(b} acetic acid
fc} lactic acid
{d] maleic acid
66. If excess fertilizer is applied to a
plant without water, the plant will
(a) be stunted in growth
(b} develop modiﬁ_cations
(c) die due to plasmolysis

(d} remain unaffected

T-DETA-K-HL/2A

67. Tips of leaves in grasses and
common garden plants show water
drops in early morning hours. This
water accumulation is obtained
from

{a) atmosphere
(b} stomata
(c) vascular bundles

(d) hydathodes

68, Which one of the following is not
biodegradable?

(aj Woollen mat
(b} Silver foil
fc) Leather bag

{d} Jute basket

69. Which among the following elements
is abundant on the lunar surface
and holds the potential to put an
end to the energy crisis of the
earth?

fa) Helium-I
(b} Helium-II
{¢} Helium-3

{d) Helium-4




64. Frfafaa o @ F-w & whu w1 W@

| 37

(@ qCH

(b) TP

{c} &I

(d} G

65. HR-3w ¥ A1 Arch gl frws Fww

7

(a) Hif® 3
(b) TR
(c) fEes 3t

(d) TEE T

66. A2 ww Q9 = o ot & stfa g R

ST, &
(o) e T g B
(b) Tt Ry wom

(c) Sagerdm=A % HO W Sy

(d) e @
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67. TR 3R o 3aw Qui it afeat %

@ v o weh B R R ) T
SA-gea e W g 87

fa) TGRVEA
b) W
{c) agd 98

(d) <Ry

. frfafes # @ =h-w ™ Q9 fdfieia
(FifEiesa) T 87

(@) FH =T
(b) iTd e
(c} - =W = e

(d) & I

69. Fr=fiflga § @ =l9-wr o ==m ) 6z

TG AT A R SR yml & Fe-gwe
1 YHTY A A FRTE @ 87

() EfREe-1
(b) iferam—II
(c) Tifermm-3

(d) wiferam-4
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70. The equipment SONAR is used to 73. Match List-I with List-1I and select
determine the the correct answer using the code
' given below the Lists :

{a) depth of the seabed List-T List-II
' A. Wine 1. Barley
{b) intensity of an earthquake B. Beer 2. Sugarcane juice
. C. Whisky 3. Grapes
fc} cruising altitude of an aircraft D. Rum 4. Molasses
. ) Code
{d) speed of a moving object
(aj A B C D
2 1 4 3
A B C D
71. A milkman puts banana leaf in miik (b)
. 3 4 1 2
jar, because banana leaf .
D fc} A B C D
3 1 4 2
fa) gives a fresh flavour to milk _
' (d} A B Cc D
2 4 1 3

{b) makes the milk acidic and

resistant to yeast
74. Which one of the following plants is

1 popularly grown along the road for

() makes the milk basic and absorbing vehicular pollutants?
resistant to yeast
o {aj Nerium

{(d} increases the whiteness of milk {b) Neem
{c) Bougainvillea
{d} Calotropis
72. The coil in a heater is made of
75. Which one of the following is
commonly used as a flavouring

agent during the preparation of
noodles?

fa) mnichrome

(B) tungsten {a) Saffron

{¢) copper ‘ {b} Cinnamon }
(c] Olive oil

(d) iron {d) Ajinomoto :
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70. SONAR 3wt foraas frafmr & foav wge
Bl 87

(o) TIRGA H TER
(b) W™ 6 g
(c) agam FH TRYR-Fren

(d) TiEm e =

71. ST QY F A § kol F TG SR B,
Hife Tt 1 g

(a) Y H A GA M T

(b) 3 + Irdy ol writ-ufedt
CEIGI

fc) 7Y & i wHR-fadeh aw
3

(d) T4 I qhd = g

72. ¥ H Fee (Fger) Rewd o et 47
fa) Tream
(b) THEA
(c) @

(¢) e
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73. FE- ® g & W9 gRfda SHivm ik

et & R Re g = owEm s
Eﬁ(ﬂﬁ‘l:
o1 -1
A, T 1. s
B. | 2, TEHE W™
C. fz=ht 3. IQ
D. W™ 4, I
T :
fag A B C D
2 1 4 3
ihf A B C D
3 4 1 2
) A B C D
3 1 4 2
d) A~ B C D
2 4 1 3

74. T=lcfga & @ 99-w & Ow T &

TGHHT ! FALNNT H & 0 Fmr=re=n
USH F GIU-AY JTET AT 87

(aj =iEH
(b}

(c) st
(d) g

7s. fafafean 4 @ $R-w1 & TTeg ¥R &

N Wi gefu-wde % wq § YIw ol
87

(a) FE

(b} T

(c) v B oA

(d) AR
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76. A boy throws four stones'of same
shape, size and weight with equal
speed at different initial angles with
the horizontal line. If the angles are
15°, 30° 45° and 60°, at which
angle the stone will cover the
maximum distance horizontally?

(@) 15°
(b) 30°
(c)' 45°
(d} 60°

77. The cleaning of ;dirty clothes by
soaps and detergents is due to a
type of . molecules' called
surfactants, which are present in
soaps and  detergents. The
surfactant molecules remove the
dirt by

fa) making the cloth slippery

{b) producing some gases between
the dirt and the cloth

’ {c) dissolving the dirt

(d} forming some aggregates of
themselves and .take away
the dirt in the’ core of the
aggregates

78. The most familiar  form of radiant
energy in sunlight that causes
tanning and sunburning of human
skin, is called =~

{a) ultraviolet radiation
(b} visible radiation
{c) infrared radiation

{d) microwave radiation
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79. The polymeric fibre used as a

substitute for wool in making
synthetic blankets, sweaters, etc.,
is

fa) Nylon
(b) Teflon
fc} Or_lon
{d) Bakelite

80. Which one of the following plants is

used for green manuring in India?
fa) Wheat

() Sunhemp

{c} Cotton

(d}] Rice

81. Which among the following are the

major reasons behind preferring
Eucalyptus tree in the planned
forestation process? .

1. Plantation grows very fast.

2. Plantation makes the soil more
fertile.

3. Wood from Eucalyptus tree is
easily converted into pulp for
paper industry.

Select the correct answer using the
code given below :

Code :

fa) 1 and 2 only
(b} 1 and 3 only
{c/) 2 and 3 only
{d) 1, 2 and 3




76. TH TSH THh Tl ARE, AEY M UR

T I Yo} W FEE = @ &t T
F ANy fig-fe wmtts = w S
21 afe ;o 159, 30°, 45° 3R 60° §,
o T w2 % mn wer afes w0
| arfteran gt a1 =7

fa) 15°
(b} 30°
c) 45°

(a) 60° |

77. B wE H g oM sl @ i

Th TR & et &, ford um-ufw
Fed 8, FO A B, N owEA ek
Hos § frmm @ #1 y-dfteas
319 A ! f wen gerd &7

(a) TR T w TR

(b) @ 3 w0 F d= TS W Iew
G

(c) B = el (99) =

(d) 4 9t Fo IS w1 & g iR i
4ol e & W E

78, WOEE 7 it amm v it e

I, St uged § e R yu-iEdr @
FRU TN B, TN FEed 27

(a) T ffeRm
(b} T ffem

(c) arace fafeo
(d) qewain fafeta
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79. 3 F qq § WG 1 drell Sgelh a-g, o

frafer ww, @ R =R 7 Fm
3T B, W Y

fa} A
(b) THAA
fc) S

() SEEE

80. fa=fafiga & @ ¥-w & Tiur g & &f

Qe TH % T g g 8t
()
(b} W
(c) HarH
(d) W

81. ANHEE THFW W § Yohiaed J& &

Iftmm < & 8 FefaRea & & ¥R-8

TgE FHR 87

1. Qo sga ¥ B S

2. TUU 7@ W AOFRRA FUF ITS
AT 2

3. IHfed ¥ 6 TG W Ian
# fu st @ R ofefa @
T 2

d= iy T Fe = W@ W B W
ELE

T

{a) Fad 1 3R 2
(b) Fad 1 33
{c) as 233
dj 1,233

[P.T.O.




82. Match List-I with List-II and select 84. Consider the following statements :

the correct answer using the code 1. A person with myopia can see
given below the Lists : distant objects distinctly but
ot see carby objects
List-1 List-II N pearty. o8
(Alloy) (Constituent) Y _
2. A person with hypermetropia
A. Solder 1. Iron and Carbon cannot see distant objects
B. Brass 2. Copper and Zinc clearly.
C. Bronze 3. Copper and Tin 3. A person with presbyopia can
D. Steel 4 lLead and Tin see nearby objects without
- corrective glasses.
Code : Which of the statements given
@) A B C D above is/are not correct?
1 2 3 4 fa) 1, 2 and 3
(b} A B Cc D {b/ 1 and 2 only
4 2 3 ! fc) 2 and 3 only
{c} A B C D d) 3 onl
y
1 3 2 4 (
(d A B C D 85. Match List-I with List-II and select
4 3 2 1 the correct answer using the code
given below the Lists :
83. Consider the following statements : List-I List-I1
) . {Item} (Toxic substance}
1. lodine is necessary for the
thyroid gland to malke A. CFL lamp 1. Nitregen oxides
adrenaline. B. Automaobile 2. Phthalates
2. Tlodine deficiency leads to goiter battery
in human beings. C. Polymer 3. Lead
3. Iodine is secreted by pancreas D. Diesel engine 4. Mercury
and helps in regulating Code
cholesterol level.
i ) {a) A B C D
Which of the statements given 4 2 3 1
above is/are correct?
(b} A B C D
fa} 1,2 and 3 4 3 2 1
(b) 1 and 2 only ¢/ A B C D
1 2 3 4
fcj 1 and 3 only
{dj A B C D
{d) 2 only 1 3 2 4
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82. -1 I GE-11 % Wy gafera Fifrg ofg

gfea & i e e g W v awowd
Tﬁﬂ—‘g’ﬁQ:

-1 -1
(Rrseg) (w=)
A. TER 1. §E 3T =Ed
B. e 2. AW AR &=
C. = 3. Wm 3R A
D. s@E 4, dm e

% :
@@ A B C D

1 2 3 4

) A B C D
4 2 3 1
)/ A° B C D
1 3 2 4
[d A B C D
4 3 2 1

83. FfeRaa wumt w famm Hifdne .

1. TREE I B TRAeE R %
1 s A v o 3

2. HEA-dar & wfumTEET Tt
7 Terig (Yag) g 2

3. EEN rAwE TU AT o 2
M woRdd-tw F FEma #
H3Eal w21

3wt el | wH-w/Q gl 3/Er

@) 1,233

(b} Fad 1 3R 2

{c) Faa 133

(d) e 2
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84, frafafiga suat v fa=wr ffdw .

Uow>

1. fiwegfe (wmifmn) amen =fe e
Tget ) gEEal ¥ 3[W Rl @
W Tereey awgaett & mEa @
@ T |

2. gl (gEwagfen) Fen wfE
T T F wEd @ 9w

g
3. S-gERfar (i) Jen =
ety agatt ) form woitys =9
% @ gl 21
ITYE FoAl # A BE-w/Y T ad /57
(@) 1,233
(b) FaEA 1 2R 2
(c) HTA 2 I 3
(d) Fae 3
85. W1 &l FE-11 & wiw giferm Fifdrg af
gial & A9 fow T g W= o woad
mgﬁn:
-1 -1
(w=) (amferw ueel)
CFL &/ 1. A5 STadEs
FAomeEa det 2. e
EIRiLt 3. dmn
gisel 3 4. U@
FeE :
fa) A B C D
4 2 3 1
() A° B C D
4 3 2 1
@/ A B C D
1 2 3 4
@ A B C D
1 3 2 4
[P.T.O.




86. Some statements about the benefits
of organic farming are given below.
Indicate whether they are true or
false using the code given below the
statemnents :

1. It reduces CO, emission.
2. It does not lead to toxic effect.

3. It improves the water-retention
. capacity of the soil.

Code :

{a) 1 2 3
False True False

{b) 1 2 3
True False False

{c) 1 2 3
False True True

(d) 1 2 3
True True True

87. Which one of the following chemicals
is commonly used by farmers to
destroy weeds?

{a) DDT
(b) Malathion
{c/ Methyl bromide

{d} 2,4-D
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88. Consider the following statements :

1. Clear sky appears blue due
to poor scattering of blue
wavelength of visible light.

2. Red part of light shows more
scattering than blue light in
the atmosphere.

3. In the absence of atmosphere,
there would be no scattering of
light and sky will look black.

Which of the statements given
above is/are correct?

{a) 1 only

{(p) 1 and 2 only
{c) 3 only

(d) 1,2 and 3

89. Which one among the following

plants ecannot be multiplied by
cuttings?

{a) Rose
{b) Bryophyllum
{c; Banana

(d) Marigold

90. Hair of a shaving brush cling

34

together when the brush is removed
from water due to

fa) viscosity
(b) surface tension
{c} friction

{d) elasticity




86. 99 F & =il & fwa & 3o @ AR

o e &1 FoAl F AR R g @
T R TR % A T E W e

1. 9§ CO, I 7 HA &

2. @& yRumm=Ey ey e
qlarl

3. U@ [ Wl S-URO &A@ F IAQ

FEA B
He
{a) 1 2 3
I e kS eeroi
{b} 1 2 3
S 3EH™ g
fc) 1 2 3
IqH qd qd
{c} 1 2 3
T g ™

g7 ffafaa & & =m-w @ wWEA

AT SRR 5 @A w8 A
& forg vy & 27

{a) DDT
(b) Befiera
fc) wiw e

(d} 2,4-D
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88. Fmfeiaa ot w faEn it .

1. 9% JEAH TW TEW % Aid
FOI % IIed WV & HRO Al
feama 21

2. dgAved H WERI H W 9m fta
WY Y & 3Tl wehioty wefdia
FT 2

3. dguved i sgufedfa § yem @
TR AE S SR SRR F0
g

Iwdeh el § @ HH-T1/R g 2/ET
{a) Had 1

(b} Fue 1 2R 2

{c) ad 3

(d) 1,2 3”3

;39. frafafies & @ F9- & dm Fow T

vaftfa =« g’
fa) T
(b} ST
(c) Fer
(d)

90. Pt MMM g A T F ¥ FeEn

T}, O 0% AT A9E | forg o
frges w3 €7

{a) T
(b} TE-TIH
{c) w§w

fd) TRl

[P.T.O.




91. Consider the following statements

with . regard to Statutory Liquidity
Ratio (SLR) :

1. To meet SLR, commercial
banks can use cash only.

2. SLR is maintained by the
banks with themselves.

3. SLR restricts the banks’
leverage in pumping more
money into the economy.

Which of the statements given
above is/are correct?

fa} 1,2 and 3
(b} 1 and 3 only
¢} 2 and 3 only

{d) 2 only

92. Which of the following statements

regarding the Fundamental Duties
contained in the Constitution of
India are correct?

1. Fundamental Duties can be
enforced through writ
jurisdiction.

2. Fundamental Duties have
formed a  part of the
Constitution since its adoption.

3. Fundamental Duties became
a part of the Constitution
in accordance with the
recommendations  of the
Swaran Singh Committee.

4. . Fundamental Duties are

applicable only to the citizens
of India.
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Select the correct answer using the
code given below :

Cade :

fa 1 and 2

(b} 2 and 4

{c} 2 and 3

(d) 3 and 4

93. When Lord Mountbatten became the

first Governor-General of India, who
among the following became the
Governor-General for Pakistan?

fa) Lord Mountbatten

(b) M. A. Jinnah

fc} Liaquat Ali Khan

{d) Shaukat Ali

94. ‘Diarchy’ was first introduced in

India under

fa} Morley-Minto Reforms

{b) Montford Reforms

(c) Simon Commission Plan

(d) Government of India Act, 1935




‘ 91. wifafirs atelar oUW (SLR) & W=y # dR ffr moE W WM W oEd I

frrafefiga ot w famm fifs 3 ;
1. SLR [ F ¥ AMITF s Fddl _—
T T ITAM HUHRS B ’
2. SLR, ¥%! g0 994 9@ T@r sl (@) 132

gl

, (b) 234
3. SLR, 9 & Wetel @t srefoqaeen #
weFa  AE Y oW\ D 0 23
wfeafa w2
(d) 3 ¥R 4
I FuEl § ® BH-91/8 gl ¥/
(@ 1,233 93. & @IE NIV YA & Yo e~
o1, 39 gy Frafifan 3 @ ww afeam
(b) hae 1 3R 3 W - a7
(c) aw 2 3k 3 (@) =
(b) To Yo Fomm
(d) wad 2
(c) Terapa areht @@
(d) ea el
92. W@ & dlaum # iy go Fdsat & o)
4 fr=fifag & 8 F9-7 Fo5 g 87
1. 9 &dea fre srftepriar & weam § 94, WA § ‘Suwme wdvem foafoafen § @
vafda fey s g=d § e aref ammoey e rE?
2. A FuA WEUA % offew %
7 ¥ T T W fa) WE-Fr) gam
3.@%@@&1‘3{3@&%# (b)n’mﬁégm{
wrgfidt & ermm dfoum # uw
Rkl (c) TIGHT IR Al
4. T %W A VR F AR T
& L e B (d) v T TfafTm, 1935
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95, The major thrust of Jawahar Rozgar 97. For which one of the following

Yojna (JRY) is on judgments of the Supreme Court of
India, the Kesavananda Bharati vs |

‘ (a) removal of poverty among the State of India case is considered a

Scheduled Castes in rural landmark?

‘ areas

{b) creating additional B wage (@} The
employment opportunities in
rural areas

religion cannot  be
mobilised for political ends

{c) creating employment oppor- (b)

. Abolishing untouchability from
tunities in urban areas

the country
(d} providing training to rural

youth for self-employment {c) The basic structures of the

Constitution, as defined in the
Preamble, cannot be changed

{d) Right to life and liberty cannot

96. Which of the following was/were the be suspended under any

main feature(s) of the Government

circumstance
of India Act, 19197
1. Introduction of separate
electorates for Muslims
2. Devolution of legislative
authority by the Centre to the
Provinces
3. Expansion -and reconstitution 98, Who among the following Indian
of Central and Provincial Prime Ministers resigned before
Legislatures - facing a vote of no-confidence in

the Lok Sabha?
Select the correct answer using the

code given below :
{a) Chandra Shekhar

Code ;
(e} 2 only {b) Morarji Desai
() 1 and 3
{¢; Chaudhary Charan Singh
{c} 3 only
(d) 2 and 3 {d) V. P. Singh
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95. SAE TR ARET (JRY) 1 T&F &e
Frfafaa 8 @ feg wd?

(a) Tdfior &= & appgfaa snfoat & o=
frdaar-3agem

(b) ufor &= # fafes gl Uemm
F grTEETST W ge

¢} & &5 7 AR Y weEat #®)
e

(d) TR gEr F @-UemR 2y wfderl
T HE

96, frafaflgs & ¥ #R-@ ww@ @R

AfufEm, 1919 f 7=z fagva(d)
oft /off?

1. geemml % fog gag Fates-avga
Lol

2. &% T U] o faured st w5
THFAN

3. F=m o = faurnwedt &=
o e gt

TR g Mg W W oW wd s
g

E T
fa) Fad 2

(b) 133
(c) =ae 3

(d) 233
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97. ¥Rd & I=a" Il & Fefafag # @

fora w fofg & fou S el 9m
IRA U9 918 & U Ufaeifass g |qm
ST 87

(a) o Bt TeEife SRedt ¥ R ae-
aifera T8 feear s w=wa

(b) MY TG B ST FE

(c} WRUR H MuE T, S fE
i § el R, aiafda ad f
|1 Ehat

{d) SiaT.3 @ = st fad
+#ft aiffy & fretfem 78 e =
Tl

08. fiafafigm wwefls wuAtal § @ fem

die T 8 afame wa % 9w s @
gl /TR 2 e gt

(a) FEIET

) A durd

(c) <edll <o i

(d) do dio iz

[P.T.O.




99, Which one of the following
statements related to the Boston
Tea Party of 16th December, 1773
during the American War of
Independence is correct?

faj The revolutionaries stealthily
entered into the ships and
threw ali the chests of tea into
the water

(b) The revolutionaries hosted a
Tea Party in the honour of
Charles Townshend, the
British Chancellor of the
Exchequer in order to place
their grievances before him

{c) 1t marked a celebration when
Lord North, the successor of
Townshend, repealed some of
the duties imposed by
Townshend

{d) 1t was a protest against the
Quebec Act

100. Consider the following statements :

1. The total elective membership
of the Lok Sabha is distributed
among the States on the basis
of the population and the area
of the State.

2. The 84th Amendment Act of
the Constitution of India lifted
the freeze on the delimitation
of constituencies imposed by
the 42nd Amendment.

Which of the statements given
above isfare correct?

{fa) 1 only

{b) 2 only

{¢/ Both 1 and 2
{d} Neither 1 nor 2
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101. Which one of the following is a
Human Right as well as a
Fundamental Right under the
Constitution of India?

{a) Right to information
(b} Right to education
{c} Right to work

{d) Right to housing

102. Which one of the following
Commissions/Committees was
appointed by the British
Government to investigate into the
massacre in Jalianwalla Bagh?

fa) Welby Commission
{b) Hunter Committee
{f¢) Simon Comrnission

(d} Butler Committee

103. Consider the following statements
and identify the person referred to
therein with the help of the code
given below :

During his stay in England, he
endeavored to educate the British
peaple about their responsibilities
as rulers of India. He delivered
speeches and published articles to
support his opposition to the unjust
and oppressive regime of the British
Raj. In 1867, he helped to establish
the East India Association of which
he became the Honorary Secretary.

Code :

{a) Pherozeshah Mehta
(b) Mary Carpenter

{c) Dadabhai Naoroji
{d) Ananda Mohan Bose




99, T =axa U & WA 16 ey,

1773 H S A e A watEg
frafeRas Tl § @ F9-w o Ul §7

() wfaert S-fod 9G § g@ el
9@ #Hit vt et o § F= fin

(b} wfawEmE 4 Ry SEeR %
TR, Il TRES & TH §
w & ol @ ales et R
I AW T@ Hh

(c) VA TGS F IR @i Y
A TRHYT T AN Y YR F X
Fo # fow = o, =@ 1| |
ITALY 1 FARE a4 T

(d) T Tgad W % g o whae W

100. Fr=fafaa weEt © faam Fifs

1. @ e H FA FeEiea e
Tdl # U H e 3R faew
F amum w fafa 2

2, WM & HEYE % 844 wWIEA
afafmm 3, 424 "W g
arftrifa Fafaa-aat % afedfm @«
T Tsh B33 e

I ol B § ST/ wd R/

fa) Fad 1

(b} FaA 2

c) 13T 2eH

() a1 mad2
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101. FPrafafaa # @ a9-T1 & 9@ & BEEH

% A TREfteR & Ty @ go TR
ot 27

o) TN SR
(b} T =1 sfEn
(c) W IR I AfUHR
(d} T H AfFR

102, Frfafa smamiatfat § | frg o £t

fagfe fafen wer T Sfewfaren am
TS hl w9 ¥ fog 6 v o7

fa) A AT
(b) TV WUk
(c) TIEHA TR
(d) =eEm Wik

103. F=ffgn FuAt w fEn 6t ot 3

fifls = =fs = 2 g @ g R
TEWET W UEEIHY

Frdve § o197 ¥are % &R, 3@ faw
T F YRG F WHE F &Y H T
afeeal & arR d Bif¥a & 1 3@
frari sei? falkw os & s 3K
FEIFRt AT % N e A0y F gaefT
¥y 2w ik @ TRIfdia Q) 1867
§ ggi $e2 goear calfay & v
gEra %1 frgas @ ure afea a3

e

(a) TROSTITR Wea
(b) B Freder
(c) TRIE s
(d) <A R

[P.T.O.




104. Which two of the following plays 106,
did Kalidasa write before writing
Abhigyanashakuntalam?

1. Vikramorvashiyam -

2. Malavikagnimitram

3. Swapnavasavadattam
4

Kadambari

Select the correct answer using the
code given below :

Code :

Who drafted the Constitution of
‘Muslim League, ‘The Green Book™

(a)

{b)

{c)

(d)

Rahamat Ali
Muhammad Igbal
Muhammad Ali Jinnah

Maulana  Muhammad * Ali
Jauhar

107. 26th October, 1947 is an important
(@ 1 and 2 date in the Indian history, because
of
(b) 1 and 3
N (a) Maharaja Hari Singh’s signing
(¢ 1 and 4 of Instrument of Accession
(d} 3 and 4 (b} ceasefire with Pakistan
{c) merger of Sind
7 (d) declaration of war over India by
N Pakistan
105. “Use of white marble, long legs and
slender frames, human beings as + ‘
central characters and prominence ’
of kings, princess and palaces” 108. The Nehru-Liagquat Pact between

were the characteristic features of
[P

which one of the following ancient

art forms of India?

{a} Amaravati School of Art

(b} Gandhara School of Art

{¢/) Mathura School of Art

(d) Pahari School of Art
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India and Pakistan was signed in
1950 to resolve the issue of

{a] the protection of minorities

(b} the accession of Princely States

{c) the border disputes

{d) the problem of refugees




104. fgHTF-em foEs | wwe wifaed 3

105.

frefafaa o @ #9-8 Q T1es o 97
1. fagmdsiag
eIy

HHFIEEq
FrErE

i

9t MR | oEm WA W
EIGE

%o

fa) 132

(b) 133

(c) 134

{d) 3% 4

“He WHUR &1 wEW, @l el 3R

e 95, F A9fE F w9 1§ 7y i
e, TegATEl R emeel  #

- yg@ar’ swra & Prafafee =R wen-

w A A/ e T A el fewand
off?

{a) STHUE! Hell TRl
(b) TFUT el el
{c) WYU FHE I

{d) TZTE! el Tl
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106, gfem o & dfawm, T WA g, |

e freR Fm?
(a) TEHa 3Tl

(b) TEHR THIA
() HEwwa el o

(d) e geE el e

107. Trg w101 26 SR, 1947 TR 3fag

i u e fafy 37

() TERT B fig g orfufem-ua m
e e s

(b) WIFER & WY FE-T90H
{c) T =1 farerm

(d) TR F0 MG R & =l =IoT

108. WA 3K uiikea™ & fig 1950 § JEw-

foramera Y w wmeR fefafaa o @
o 7% & T & o fee mo?

() STETESIH! B TE
(b) it famadl #1 stfufiem
(c) Hm-foam

(d) Tronffal ) geen
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110. The Dual

- 109. Consider the following statements

relating to the famous Muzaffarpur
murders (1908) :

1. The bomb, which was hurled
at the carriage of Mrs. Pringle
and her daughter, was actually
intended for Mr. Kingsford, the
District Judge of Muzaffarpur.

2. The revolutionaries wanted to
kill Mr. Kingsford, because

he had inflicted severe
punishments on Swadeshi
activists.

3. Khudiram and Prafulla Chaki
had to pay the penalty for their
action by death.

Which of the statements given
above is/are correct?

{a} 1 only

{b) 2 only

{¢) 2 and 3 only
(@ 1,2 and 3

Government’ recom-
mended by Lord Clive provided
that the

(a) criminal justice would be left to
the Nawabi officials, while civil
and fiscal matters would be
controlled by the Company

{6} Company will look after fiscal
matters and all the rest would
be dealt by the Indian ruilers

{c} Indian rulers will deal with all
the matters of administration
under the supervision of a
Company official

(d) Indian rulers will be only
titular heads and all -the

powers shall be directly dealt
by the Company
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111. After the death of Raja Rammohan
Roy, the Brahmo Samaj split into
two sections; the Brahmo Samaj of
India and the Adi Brahmo Samaj.
Who were the leaders of the two
sections respectively?

{a) Keshab Chandra Sen and
Debendranath Tagore

(b) Radhakanta Deb and
Debendranath Tagore

fc) Keshab Chandra Sen and
Radhakanta Deb

{d) Debendranath Tagore and
Radhakanta Deb

112. Consider the following statements :

UNESCO’s World Heritage mission
is to

1. take over the management,
maintenance and preservation
of World Heritage sites.

2. encourage State parties to the
Convention concerning the
Protection of the World
Cultural and Natural Heritage
to nominate sites within their
national territory for inclusion
on the World Heritage List.

3. provide emergency assistance
for World Heritage sites in
immediate danger.

Which of the statements given
above are correct?

{aj 1,2 and 3

(b) 1 and 3 only
(¢) 1 and 2 only
fd) 2 and 3 only




109. foeam geweuge genett (1908) & =i #

Frafafga sut s Aifs

1. ag §m, st findi e it sht
o it M W T a1, A
TEERR & en-sw ofmm
fraerd o forg stfima om)

2. wieil dimm fFeed ® o
9Ed % wife IEW =R
Hisraamanient #i #wer ave fu &)

3. gdm i upg W @ I wmH
% o oz, gy & w9 F gy
EEi

I FeAl § ¥ BE-91/F w2/
{a) HIF 1

(b) e 2

fc) a2 HAR 3

(@ 1,23R3

110, T8 F3a W TG 39 W& T F®
3uafaa on?

fa) <vs-A TaE] IfdEiEt & fom
Big Rm smom, sEiF amfs ik
TFHEE Tme s FEmw d
&

(b) =t UeEE TEE W e i
o mft T wwd s g
frgem smin

(¢) FH & b Il & qdage %
A,y % wift oee AN
a3 e s

(d) WE WS TEAE % ghaar g
iR wft wfwal st F waw
=aER § gt

T-DETA-K-HL/2A
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111, T1 THAEA 1@ N Peg & 94, FE 0N

QA ol § R & T Wia W w9
T 3R R o T | QAT g
& a1 N A A7

{a} FTE T BT T ISA" T

(b} THaTRFd 39 3T Y TR

fc) FIE TF 87 A TURRIA <

(d) <A AT AR mmm-%a

112. fFafeifaa womt w fmn it

UNESCO =1 fag fauea fimm
1. fag fooma el & warum, orpem
AT HLET T MR A & T B

2. fag vl @ Tfos R &
HE ¥ ISR @Y 9 Fa7H &
T UFFER B, A R T53ET
& et went o fag favwa g+t 1
Tmifra A g WD FH F
forg &1

3. WA Hohewd fag fauwa wret &
T 3o weEe eW w0 % forg
21

TG AT A FH-H T 37
fa 1,233

(b) T 1 ¥R 3

(c) a1 2.

(d) Faa 2 3 3

[P.T.O.




113. Which one of the
statements regarding Harappan
civilization is correct?

following

{fa} The standard Harappan seals
were made of clay

(b} The inhabitants of Harappa
had neither knowledge of
copper nor bronze

{c/ The Harappan civilization was
rural-based

(d] The inhabitants of Harappa
grew and used cotton

114. Under which of the following
conditions can citizenship be
provided in India?

1. One should be born in India.

2. Either of whose parents was
born in India.

3. Who has been ordinary
resident of India for not less
than five years.

Select the correct answer using the
code given below :

Code :

. {a) 1,2 and 3
(b} 1 and 2 only
fc¢} 2 and 3 only

{d) Either 1 or 2 or 3

T-DETA-K-HL/2A

115. Consider the following statements.:

1. The current global economic
crisis owes its genesis to the
subprime crisis in the United
States.

2. The Indian economy is showing
a faster recovery from the
economic  crisis than its
western counterparts.

Which of the statements given
above is/fare correct?

fa} 1 only
(B} 2 only
() Both 1 and 2

{d) Neither 1 nor 2

116, Which one of the f{ollowing
inscriptions mentions Pulakesin [I’s
military success against
Harshavardhana?

{(a) Allahabad Pillar Inscription
(b) Aihole Inscription

{c} Damodarpur Copperplate
Inscription

{d} Bilsad Inscription




113. =W &=al & faug § fratafaa o
¥ ®H-T1 TF a8 27 '

(a) W gur YE frft Y = of

(b) wEW & Fawd 7 @ s & g d
I g s A am H

(c) BT W TW-Ii ot

(d) T % Fam suw I 3 o
ERIVE IR

114. Tafafan et § @ s sfim swwa #
‘ foreht =t T we= i s g §7

1. IO S0 WG § a1 g =niwe)

2. fas wa-fuan, €At 4 ] |8 s,
IR T SR AT

3. W HH-¥-H9 99 98 GF "G 6
I AT @/ a|

o R M F2 & @ w® gl W

%
(@ 1,23M3

(b) wae1 3R 2
(c) A 2 M 3

(d) |MA 1, T|M2T3
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116. frfafay st ot & ¥ FA-W

115, Frfafaa s w fmm fifsw

1. aduma fimw anfies gwe & Iwfy
WH TS % IE-YEE (§9-SEH)
Fe q E

2, WA df=raey @ s g9 |

A TS WG B ogern d
arftes o § I G @ 2

IR FoEl A/ BA-9// w2/
fa) *a 1

(b) F 2

¢/ 13 2aEt

(@) Ad13MaIH 2

i 4

adq ¥ foeg gosfim fidfa &
TEHEAT 1 3@ Har &7

(a) TR W bl @
(b) A SR o
(c) STEERGR amH-~uiEE! SEhit o

(d) Teemz i o@

[P.T.O.




117. The Constitution (74th) Amendment
Act mentions of the

fa} composition of the National
Development Council

(b) structure . of the Planning
Commission of India

fc) functions of the State Finance
Commission

{d) functions of the Kaveri Water
Authority

118. Which one of the (following
International Human Rights

Instruments has been signed by
India but not yet ratified?

fa) Cdnvention on the rights of the
child

Convention on the elimination
of all forms of discrimination
against women

(b)

fc)

Convention on the political
rights of women

(d)

Convention on the nationality
of married women

119. Consider the follolwing statements

1. The gross revenue from the

telecom sector in India
accounts for 3% of the GDP
(2009).

2. Centre for Development of
Telematics is better known as
C-DOT. -

3. The- switch from digital
technology to the analog
system  revolutionized tele-
phony in India.

T-DETA-K-HL/2A
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Which. of the statements given
above is/are correct?

faj 1 only

(b) 2 only

fc) 1 and 2

(d) 2 and 3

120. Consider the following statements
about Concordat :

It is an agreement between the
Roman Catholic Church and
k the State.

T

2. The President of Brazil did not
sign a Concordat during the
Pope Benedict XVI's visit to
Brazil in 2007.

3. Concordat of 2009 was signed
between the Holy See and
Portugal.

Which of the statements given
above is/are correct?

fa) 1,2 and 3
(b} 1 and 2 only
fc/ 2 only

(d) 1 and 3 only




117. Gfgam (74a7) R siafes feam
IEE T B

(a) TETE ey aftag = Gued
(b) ST & M 1w H =
(c) TsH ford o & »rd

(d) wal s witERw & w5

118. fafaflgs 4 4 #w-w1 w U
AHATYHR 999 WItd g0 eengia fee
T % Reeg et o argemida i 7

(@) Toag % sfedl | =

(b) &t F g aft vl % YewE &
e o w=mm

() @ ToifE SRR R F

() TafEm =t it wa | w3

119. Feffgs Fudt w fam fifm .

1. 9Rd § cfierin da2t ¥ fiem aran

el TsRd, GDP (2009) & 3%

Bl '

2. W BR STAUNZ 3w TEAlTR #)
C-DOT % & § fis SFr e
B

3. o YRR @ sgEw wonedt 3
WA ¥ 90d H THEH-¥ER J
i 3 e |
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e et @ A/ 2

fa) *ad 1

(b) Faw 2

fc)

1 3ft 2

(d) 233

120. wHEfa (Fiee) & fam § F=faf
FHyAl W o Fifs -

1.

7 U Fafos = o o &
dra argEy g1
oy sdfeswe xvi @it 2007 @

A A F SO S & agei
3 forelt enfaf w amaner 7 fmy

2009 H udatw B @ =ik
gimE & @9 wenefa gl

Sqgh sl 9 A w-an/d ad §/87

@) 1, 23R 3

(b} Fad 13 2

{c) Haw 2

(d) Fae 13t 3

[P.T.O.
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T T TH qg T YT TieM W A el WY a9 96 T @

... : T-DETA-K-HL wieror giwaent gEn
HH TG
80745 gifterur yfeaent A
| AW Jq 1
N yuife : 100
Ageaw

1. Tien wioew @ % g wtg, 3y 3@ gl giem ) ygaw v oo fE sed = oo, e
1 G R YR agEr wwiw anfe 7 gh Al o R, @ 3R wd@t oo givae @ sgw i)

2. I-ume # W T w witeror gieaewt aigEw A, B, C 91 D aonfef Wy v 9 geag Sl

3. 39 wigw gy | Wy A R o wms A oamws s
g foran 21 whgw gfRen w ik $B 7 )

4. @ Ty gfww §.120 wHiw (799) R 1w d L ads wein fih ot oieht i sw 1 wels yw # |R
wege (FW) Ry e ) w0l A o aege W A o @ I So-we W sifea e wea 81 3R e Y
7 f T ¥ i e o §, % IA g ) i AR S R watem ) v s ¥ o e

TH B TR T 2

5. 3@ 3 ot v dem & Ru e sd-wme W E sk w3 8 sw-ws ® g g fEw IRauy

6. ot yAITt &% F WA

7. T Tge B e whgw g & foftm i ¥ oogw Sw-wE W oNRed S JE &, ST wa
-7 % W W SR & agEn 39 few s § 3

8. I 3 wff YTl F IW-TFF A W T A aw wlten % wHEA T hae I9-uaE adias B | )
AR I Ty T g @ s R el &
9. %= %M % R wrw whew g & ot & wom £
10. TTea S & faru gve
aEgHE TH-wE # Ffear g Re e e swd % o v R @
(i} 7% ¥ fom an Iwfcye Im 2| Infiear T vRS g ¥ forg Re T wE mem W & fw v g
g fpu T o = uw-fae (0-33) =vs & ww d we W)

(i) afe #i3 Inficanr ww A Aftes I W &, d W T I A wen, 99 o e el d @ um s ad
A 8, IR ot 30 7 & R swdegER @ I we w5 e o)

(iii) aR I=fiean g 8w Ba A fien wman € crufq 3nfiear g 3w @ B s R, & 39 vw % R
w1¢ 7o T¥ e smom)

" qeh ATqh! A8 TE0T I Wie & 9 Hg e 99 9% T Gl

Note : English version of the instructions is printed on the front cover of this Booklet.




